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2018
BASIC ELECTRONICS

- fuifa ama  fim 9 '  [3Afreraw 3 : 70

Time allowed : Three Hours] : [Maximum Marks : 70

Fe: () FYHFE AT 8, 95 7 G [T wia F I o |
Note : Question No. 1 is compulsory, answer any FIVE questions from the remaining.
(i) HeIH J¥7 & G YT H} FHAR T GrY §T Hiord |
Solve all parts of a question consecutively together.
(iii) JeAF F¥ H 79 78 & IREY Hifrd |
Start each question on fresh page.
(iv) @ qT9rsi 7 7R 817 #1 Rt 4 3 srgarg & A 8 |

Only English version is valid in case of difference in both the language.

I. (i) BIT g ® o aur B I TH |
Explain o and 3 in BJT transistor.
(i) NI SHC LS ?
What is varactor diode ?
(iii) HFTCHe YT SRUTTCHSh ehi h! THITSY |
Define positive and negative logics.
(iv) feramia yma =g ?

What are De Morgan’s theorems ?

(v) D T fRiu-verig # 37at gusmsd |

Explain difference between D and T.flip-flops. | (2*5)
2. () oo S WgWw Ul A A fewert i fom wfea wweme aun sudh! g w
3ftfent 7UTieR 6 TOTET HIT |

Explain full wave bridge rectifier using semiconductor diode with diagram and
calculate its efficiency and ripple factor.

Gi) cimer & sfufifa i sravasa ® aremed | R sfuffa ofwy w1 fawewo
HI |

Explain the need of biasing in transistor. Analyse the fixed biasing circuit. (6x2)

(10f2) . P.T.O.
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mﬁgm(cs)ﬁﬁmﬁmm%ﬁésﬁamﬁhV-l srfrenefires ashi I
e qur a9y |

Draw and explain common base (CB) transistor configuration’s input and output
V-I characteristics curves.

FE-B s vades 6t faean Hifre qen saeht garan FHepifert |

Describe class-B power amplifier and find out its efficiency. e (6x2)

LED AT Bl 3 =1 a1 SEsvIed! i FHesd |
Explain construction and working of LED and photo transistor.
T TH: P 3 o1 quT g1t B e |

Explain the advantages and disadvantages of negative feedback. (6x2)

Hrefie gR  HEEaT & AND, OR @1 EX-OR difehs gl 1 a8 |

Realise AND, OR, EX-OR logic gates using universal gates. 6)
et 7 Sl ST <6 wrETT & firg BT :

Prove the following by using Boolean Algebra :

@) (A+B)(A+B)=AB

(b) ABC+ABC+ABC=A(B+0() (3x2)

fisameT) ol SraeheTeh i difdheh 3G T Fe AR bt HETIAT  FHIATE |
Explain binary full subtractor circuit using logical diagram and truth table. -
feamurh Tl et quT fenedieret # Jiat e A | @ € 4 x | fgsmad
Tediaa i HRTUT dlfdhe R <hl HEEAT § TR |

Explain difference between binary multiplexer and demultiplexer. Also explain
the working of a 4 X 1 binary multiplexer with logic diagram. (6x2)

23Tk TTUTeh ShY HTISUTTE o e GeaaTierenl <l TR & HHETS |

Explain working of decade counter using diagram and truth table.

T fereemas den g fereua Whre i qwETE |

Explain left shift and right shift register. (6x2)

o 1 @ fopedl @ we wifdm feoaforen forfa |

Write short notes on any two of the following :

(1)

(i1)

vifsreet i ag gifer
Transistor Wein’s bridge oscillator

feamurd afvres T

Binary serial adder

(iii) Tefireet qenies & w9

Advantages of digital techniques : (6x2)




